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Group A

6.2 Second conditional

Exercise 1 

1 wouldn’t: We need would in this part of the sentence, and it needs to be negative – because the speaker says the truth is unbelievable.
2 wouldn’t be: This part of the sentence needs the negative form of would, and the verb be. We use the infinitive form of the verb after would.

3 worked: In the if clause of second conditional sentences, we need the verb to be in the past tense, so work becomes worked.

4 was / were: In the if clause of second conditional sentences, we need the verb to be in the past tense, so isn’t in the first sentence becomes was. We can also say were, although we tend to use this when we’re writing rather than speaking.

5 I were: This is an expression we use when we’re giving someone advice, If I were you, I would / wouldn’t...
6 wasn’t: The is in the first sentence becomes past in the second sentence, in the negative.

7 didn’t behave: In the if clause, we need the verb to be in the past, and also negative, so behaves in the first sentence becomes didn’t behave in the second.

8 wouldn’t be: We need the negative of would. We use the infinitive without to after would.
Exercise 2 
1 didn’t work: In the if clause of second conditional sentences, we need the verb to be in the past, and here we need the negative form.
2 would get: In this part of the sentence, we use would + infinitive.
3 applied: In the if clause, we need the verb to be in the past.
4 wasn’t: In the if clause we need the verb to be in the past, and here we need the negative form.
5 Would you do: In this part of the question, we need would and the infinitive.
6 wouldn’t become: In this part of the sentence, we need the negative form of would and the infinitive.
7 would retire: In this part of the sentence, we need the negative form of would and the infinitive.
Group B

6.2 Second conditional

Exercise 1 
1 wasn’t: In the if clause of second conditional sentences, we need the verb to be in the past tense, and here it needs to be negative. So she’s shy becomes she wasn’t shy in the second sentence.

2 didn’t like: In the if clause, the verb must be in the past tense, and here it needs to be negative. So I like in the first sentence becomes I didn’t like in the second sentence.

3 would go: In this part of the sentence, we need would. Would is always followed by the infinitive without to.
4 she had: In the if clause, we need the verb to be in the past tense, and here it needs to be affirmative because the verb in the first sentence is negative. So she doesn’t have becomes she had.
5 wasn’t: The is in the first sentence becomes past in the second sentence, in the negative.

6 I were: We use the expression if I were you when we want to give advice to someone.

7 wouldn’t: We need something that means the same as hates in the first sentence – wouldn’t like.
8 I lost: The main verb is lose. In the if clause it needs to be in the past, so it becomes lost.
Exercise 2 

1 was: In the if clause, we need the verb in the past.

2 wouldn’t be: In this part of the sentence, we use the negative form of would + infinitive.
3 became: In the if clause, we need the verb in the past.
4 were: In the if clause, we need the verb in the past.
5 Would Mark like: In this part of the question, we need would + infinitive.
6 had: In the if clause, we need the verb in the past.
7 would get: In this part of the sentence, we need would + infinitive.
Group A

6.5 Modal verbs for obligation and permission

Exercise 1 

1 can’t: It’s impossible for the speaker to go into town, because she has to help her mum, so we use can’t.

2 don’t have to: It’s not necessary for him/her to give in the work today. He/She can do it tomorrow, so we use don’t have to.

3 have to: It’s important to email someone on their birthday – you have to do it.

4 can: This is an offer of help. The words if you want tell us this, so we use can.

5 mustn’t: It’s important that Tim doesn’t leave his wallet at home, so we use mustn’t.

6 Can we: The speaker means he/she wants to go to the beach, and they’re asking if it’s OK. 

7 doesn’t have to: It isn’t necessary for Sarah to get the bus because her dad is coming to get her.

Exercise 2 
1 mustn’t: It’s important not to drive fast here, so we use mustn’t.
2 must: It’s necessary to take the fish back, because it smells bad – so we use must.
3 can’t: It’s not possible to go, because of work – the speaker can’t go.

4 doesn’t have to: It’s not necessary for Dad to go to work, so we use doesn’t have to.
5 must: It’s important to remember, so we use must.
6 can: It’s possible for Bill to drive because he’s got time, so we use can.
7 don’t have to: It’s not necessary to pay for the ticket, so we use don’t have to.
8 mustn’t: It’s important not to forget, so we use mustn’t.
Group B

6.5 Modal verbs for obligation and permission

Exercise 1 

1 mustn’t: This means it’s important not to. If you make a noise, you wake people up.

2 can: This is an offer of help. The words if you like tell us this.

3 can’t: Can’t means it’s not possible. He can’t go there because the shop is closed.

4 Do you have to: This means is it necessary, which it is in many schools.

5 needn’t: It isn’t necessary to buy food because there’s a lot in the fridge already, so the speaker uses needn’t.

6 can: Here, I can means I’ve got permission because Mum says it’s OK.

7 don’t need to: This means it isn’t necessary because you can look on the Internet.

Exercise 2 

1 doesn’t have to: It’s not necessary for John to start work at nine, so we use doesn’t have to.
2 must: It’s very important for staff to know about computers, so we use must.
3 can’t: It isn’t possible for Peter to apply, so we use can’t.
4 can: It’s possible to park the bicycle here, so we use can.
5 must: It’s very important to be able to swim, so we use must.
6 don’t have to: It’s not necessary to finish the work tonight, so we use don’t have to.
7 mustn’t: It’s very important not to talk loudly, so we use mustn’t.
8 can’t: It’s impossible to work out the Maths problems, so we use can’t.
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